Unit1 -

ICS4U0 - Java Applets & Strings

Sample Test - February 14, 2024 - What a nice way to Celebrate Valentine’s Day!
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1. This is the original String: 0 J1 ]2 |3 |4 [5 16 17 18 Jo /10

String b = "BasketBALL";
Match the code with the output.

klelt

Bla |s BIA

,/\ 10 a. System.out.println ((int) b.charAt (1));

£ b. System.out.printin (b.charAt (0));

o |© ¢. System.out.println (b.charAt (5));

dj 97 d. System.out.println (b.compareTo (“hockey") < 0};
w1 | BASKETBALL e. System.out.println (b.equals ("hockey™);

L | basketball f. System.out.println (b.indexOf ('s"));

| | BasketBAMM g System.out.println (b.indexOf ('B"));

P | false h. System.out.println (b.length ());

O\ true i. System.out.println (b.replace ('L','M'));

*L B j. System.out.println (b.substring (0, 4));

C |t k. System.out.printn (b.substring (0, 1) + b.substring (4, 9));
j Bask . System.out.println (b.toLowerCase ());

,4 BetBAL m. System.out.println (b.toUpperCase ());

W | BB n. System.out.println ("" + b.charAt (0) + b.charAt (0));

2. Use this code to fill in the memory diagram. Then, write out what each substring prints.

String f =

“cricket and soccer";
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cl«op of-(' decima l

clefijelkleit] lan|d] [sfolclele|r
(a) | System.out.println (f.substring (@, 5)); Crl’f/k
(b) [ System.out.println (-F.substring (13, (@)); oCCeq
System.out.println (
£ f.substring (Ff lenéth () / 41 [f.indexof (* N); k,Q/‘r
17




3. Write the code required for each colour.

R G 1> /6

4., Fill in this colour wheel based

on the computer colours.

Use

blue title.setBackground(new Color( () , O ,2C )); the proper colour names.
cyan title.setBackground(new Color( () , 255’, 2;5—) i
green title.setBackground{new Color( (/ ,2§5', O At ‘%\\\
7 ™.
- /HQW \
vellow title.setBackground(new Color( 255, 25¢, O 1) A L Red /:;
/ "h\\ .d’/’- \
red title.setBackground(new Color(zgg-, () , O IS ( Blue >/\’}7€,// VJ \
AL
magenta title.setBackground(new Color(Z(f, O ,ng) Vi \( \\\_‘ /
an
white title.setBackground(new Color { 2,(—5’, 25¢, 2@) ¥ \Cy Green >/
~ //
black title.setBackground(new Color( (J} , C:) . (2 1B S~
Communication :r%’
5. Fill in the words that match the descriptions given. /10

/3

Q"{' r I’Y\ q

(a)

A type of variable that holds a group of chars.

Char A4

(b)

A String method that returns a char.

Brutt Fovee

(c)

An attack that can break a Caesar shift. g ;‘;fffﬂﬁﬁ 73"1 hﬁ::ﬂ‘ d/j:fm‘
e

Yy
h -

As Il

(d)

An encoding technique for translating letters to binary.

P 1G LO\J”‘VL

()

Encryption named for an animal and the Ancient Roman language.

v 'Tf)fD ( V\) ; "-f-,' A2 [(f) Encryption that can be decrypted with a shiny reflective surface.
C/; 0 Lu *t)d' N (g) Text thatis not easily read.
I
B {4 (/kﬁ oX (h) A type of testing where you don’t look at the code.

CO\S‘\')?\G

(i} The name for using (int) in front of a char to make it into an integer.

J8B wfhﬁ)/\

() Atype of widget used for mouse input.

6. Why is testing important? Provide a specific example. (3 points, at least 3 sentences)
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7. Name each PARC principle and explain how each is broken by this app.

Chasse the bastsipatl, /8

Pruximd-i/ The similar Hurgs { grup | bu tos '.
SYvp 2, Spmb q—'jklpm_w*f) 5lwwt'/ f"(,
togstlusr i a Jrmap, S pucepf frpm otpet T
A'iﬁh"\%‘f’ All 14ems 1a FHe Suu,m Show (o] “i,{\
be right, left ov centre aliined . ﬂfwj; ‘~;{@
REpahT mofn?ﬁuaf mmalwh}; A s Ll g =
2 1Y PuU Alfent fonts ad putd. Only | shot PREVIOUS
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Thinking ﬁ
8. White Box and Black Box test this app. /9
" ¢ Palindrome $EC = Word Black Box Test Case
Check palindrome 0 Swnl/ O(MLQ
Word: | tacocat | ba it na ﬂm ., 9{41’-&]

Yes.

Palindrome running ...

. e Lw{,p oot

$l$ bﬂmﬁfﬂm«/

A palindrome is a word that [-em,rf:/ ¢ d avordf lo 010 (# L[—)

reads the same backward as

Word White Box Test Gase & Line Number

case oletq

forward. b /0010 ot (L (#'Lf>
For example “racecar" or G ’/1'6“4‘{‘0 14 loaﬂ VVUMAV ‘fmda {ﬂ' L/)
"nurses run”, v
‘ILQCOC@—f' 70 "140 r[ Lic YL /mC’{nn«u] #é
C'IOMCX% 0 Ga_into 2lse [pod ﬁn//hﬂ{h@n Iﬁg
public void actionPerformed (ActionEvent e) {
2 String s = input.getText();
3 String rev = "";
4 for (int i = s.length () - 1 ; i >= 0 ; i--)
5 rev += s.charaAt (i);
6 if (rev.equals (s))
7 output.setText ("Yes");
8 else
9 output.setText ("No"):
10 }



9. Decrypt the following messages. This chart may be useful: /12

1121345678 [9[10]|11]12/]13

14151617 {18]1972021[22[23{24(25]26

alblc|dje|f hii|j [k |1 |m

n{ojpijgqijr [s |t fu v (wlx |y |z

cbtlfucbmm ofu
basketball ned

ockeyhay katessay
l/\oc(f-?y Skate €

enozdne llabtoof
foot bﬁ H ftw{ZOMQ

31893 115 20
Cr Lokt 4

Hint: vgmcfrvgzz = basketball, Hint #2: All punctuanon .is atit appears.

rgct g mfgr gke y zz rfzz opt g rgzf gzz

fake a seat and T'y)

1e ] Yoy 4 talt all

gvptr vgzzfr, vgmcfrvgzz gke vgmfvgzz.
about [M(R‘h basketball and baseball,

App“caﬂon[E%

10. This is the original String: String h = "hockey SKATES"; /10

0]1]2[3|4[5]6

7181910 11 ] 12

hiolclklely SIKIAITIE
Write the code to produce the following outgut:

(a) | HOCKEY SkaTEs System.out.println{ fq +o MﬂW Cmse ( ) )g
(b) | hockey skates System.out.printin( J, 4y W (a se ( ) )3
© | System.out.println [,\ Cha /}4{- (‘]) ) ;
(d) | hockey PKATEP System.out.println( h. rt,p[)\u_.( S P ) )i
(e) | hockey System.out.println( j, gu[;S‘f'hM {0 &) ) 3
() | 13 //the length System.out.printin( |y, W—(—A )y
(h) | 104 //ASCII of h System.out.println ( (,‘4-}) 1/, Cﬁ@f/H (0) )i
(i) |2 //position of ¢ | System.out.printin{ b, judex Of( 'C ') ¥
G) | sTate System.out.println (h, suﬁs-f'nnq [7 ,2) Mg(,m/[ ! ‘T))

(k) | ok System.out.println(}, WA.} (f) + A, CAMA\{.(3\ ) i




11. Make a loop to count number of times cat appears in a string, The letters are all lowercase.
(if you can't do that, there are serious part marks for counting the number of times the letter ¢ appears)

Also: There is way too much space on this page for this question. Don’t let that bother you.

/8
Example 1: Example 2: Example 3 Example 4
Word? catdogcatcatturnip Word? ¢ Word? cahatmatsatac Word? tacocat
3 cat(s) @ cat(s) @ cat(s) 1 cat(s)

nt count =0,
7(0{(# [=0 ; | < S, [Mﬁﬂ'() Z ) H»-O
HF(S Subs%yﬁ (i H—g) %W‘c "Cﬁt\[‘l>) ¥

Cou VL+ %—f-

s
5)/5-}(44,1‘ o,,d-,/am‘ﬂ*f‘/m (Cowm‘ll + 7 cqt (<) ”))'

¥ a{‘f@fMﬂ+?VC(7;

i (sichardd (i) =5 8 s k(i) = 48
Sechar k(i 42) = = )
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